Bid #452-11541 - Tapping Sleeves, Stainless Steel, MJ

Start Date Dec 4, 2014 5:14:59 PM EST Awarded Date Not Yet Awarded

452-1154101- 01 6" X 4" SS Tappin g	Sleeve					
Supplier	U	nit Price	Qty/Unit	Total Price	Attch.	Docs
HD Supply Waterworks, Ltd. [Ad]	First Offer -	\$386.99	10 / each	\$3,869.90	Υ	Υ
Product Code: Agency Notes:			Supplier Product Supplier Notes: I	: Code: Manufacturer: JCM	1 439	
A&B PIPE & SUPPLY, INC.	First Offer -	\$390.53	10 / each	\$3,905.30	Υ	Υ
Product Code: Agency Notes:			Supplier Product Supplier Notes: I	: Code: Manufacturer: JCM	l Industri	es
Lehman Pipe & Plumbing Supply, Inc. [Ad]	First Offer -	\$413.00	10 / each	\$4,130.00		Υ
Product Code: Agency Notes:			Supplier Product Code: MODEL 439 Supplier Notes: Manufacturer: JCM			
UTILITY SUPPLY ASSOCIATES, INC.	First Offer -	\$419.67	10 / each	\$4,196.70		Υ
Product Code: Agency Notes:				: Code: 349006B040 Manufacturer: POV		
Fortiline Waterworks, Inc.	First Offer -	\$489.10	10 / each	\$4,891.00		Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes: Manufacturer: romac ROMAC SST-III MJ OUTLET			
Corcel Corp.	First Offer -	\$659.00	10 / each	\$6,590.00		Υ
Product Code: Agency Notes:			Supplier Product Supplier Notes: I MJ With Carbon St	Manufacturer: POV	VERSEAL	3490

452-1154101- 02 6" X 6" SS Tappin	g Sleeve				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
A&B PIPE & SUPPLY, INC.	First Offer - \$422.84	50 / each	\$21,142.00		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes: I	t Code: Manufacturer: JCM	Industri	es
Lehman Pipe & Plumbing Supply, Inc. [Ad]	First Offer - \$423.00	50 / each	\$21,150.00		Υ
Product Code: Agency Notes:			Code: MODEL 439 Manufacturer: JCM		
HD Supply Waterworks, Ltd. [Ad]	First Offer - \$427.95	50 / each	\$21,397.50		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Manufacturer: JCM 439			
UTILITY SUPPLY ASSOCIATES, INC.	First Offer - \$439.35	50 / each	\$21,967.50		Υ
Product Code: Agency Notes:			t Code: 349006B060 Manufacturer: POV		
Fortiline Waterworks, Inc.	First Offer - \$505.91	50 / each	\$25,295.50		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Manufacturer: ROMAC ROMAC SST-III MJ OUTLET			
Corcel Corp.	First Offer - \$690.00	50 / each	\$34,500.00		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes: I MJ With Carbon St	Manufacturer : POV	VERSEAL	3490

452-1154101- 03	8" X 4" SS Tapping	J Sleeve				
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
:		•				

HD Supply Waterworks, Ltd. [Ad]	First Offer -	\$398.78	5 / each	\$1,993.90		Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes: Manufacturer: JCM 439			
A&B PIPE & SUPPLY, INC.	First Offer -	\$403.33	5 / each	\$2,016.65		Υ
Product Code: Agency Notes:			Supplier Product Supplier Notes: I	: Code: Manufacturer: JCM	l Industrie	es
Lehman Pipe & Plumbing Supply, Inc. [Ad]	First Offer -	\$426.00	5 / each	\$2,130.00		Υ
Product Code: Agency Notes:				: Code: MODEL 439 Manufacturer: JCM	1	
UTILITY SUPPLY ASSOCIATES, INC.	First Offer -	\$452.01	5 / each	\$2,260.05		Υ
Product Code: Agency Notes:				: Code: 349008B040 Manufacturer: POV		
Fortiline Waterworks, Inc.	First Offer -	\$500.93	5 / each	\$2,504.65		Υ
Product Code: Agency Notes:			Supplier Product Supplier Notes: I ROMAC SST-III M.	Manufacturer: ROM	ИАС	
Corcel Corp.	First Offer -	\$710.00	5 / each	\$3,550.00		Υ
Product Code: Agency Notes:			Supplier Product Supplier Notes: I MJ With Carbon Sto	Manufacturer : POV	VERSEAL	3490

452-1154101- 04 8" X 6" SS Tappin	g Sleeve				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
HD Supply Waterworks, Ltd. [Ad]	First Offer - \$447.83	25 / each	\$11,195.75		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes: I	: Code: Manufacturer: JCM	1 439	
A&B PIPE & SUPPLY, INC.	First Offer - \$451.00	25 / each	\$11,275.00		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes: I	: Code: Manufacturer: JCM	l Industri	es
Lehman Pipe & Plumbing Supply, Inc. [Ad]	First Offer - \$451.00	25 / each	\$11,275.00		Υ
Product Code: Agency Notes:			: Code: MODEL 439 Manufacturer: JCM	1	
UTILITY SUPPLY ASSOCIATES, INC.	First Offer - \$473.58	25 / each	\$11,839.50		Υ
Product Code: Agency Notes:			: Code: 349008B060 Manufacturer: POV		
Fortiline Waterworks, Inc.	First Offer - \$542.80	25 / each	\$13,570.00		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes: I ROMAC SST-III M	Manufacturer: ROM	ИAC	
Corcel Corp.	First Offer - \$743.00	25 / each	\$18,575.00		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes: I MJ With Carbon Sto	Manufacturer: POV	VERSEAL	3490

452-1154101- 05 8" X 8" SS Tapping	j Sleeve				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
UTILITY SUPPLY ASSOCIATES, INC.	First Offer - \$561.33	20 / each	\$11,226.60		Υ
Product Code:			t Code: 349008B080		
Agency Notes:		Supplier Notes:	Manufacturer: POV	VERSEAL	
HD Supply Waterworks, Ltd. [Ad]	First Offer - \$584.32	20 / each	\$11,686.40		Υ
Product Code:		Supplier Product	t Code:		
Agency Notes:		Supplier Notes: Manufacturer: JCM 439			
Lehman Pipe & Plumbing Supply, Inc. [Ad]	First Offer - \$607.00	20 / each	\$12,140.00		Υ

Product Code: Agency Notes:			t Code: MODEL 439 Manufacturer: JCM	1
A&B PIPE & SUPPLY, INC.	First Offer - \$607.16	20 / each	\$12,143.20	Y
Product Code: Agency Notes:		Supplier Product Supplier Notes:	t Code: Manufacturer: JCM	1 Industries
Fortiline Waterworks, Inc.	First Offer - \$667.21	20 / each	\$13,344.20	Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes: ROMAC SST-III M.	Manufacturer: ROM	МАС
Corcel Corp.	First Offer - \$881.00	20 / each	\$17,620.00	Y
Product Code: Agency Notes:		Supplier Product Supplier Notes: I MJ With Carbon St	Manufacturer : POV	VERSEAL 3490

452-1154101- 06 10" X 4" SS Tappi	ng Sleeve				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
HD Supply Waterworks, Ltd. [Ad]	First Offer - \$455.87	1 / each	\$455.87		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes:	t Code: Manufacturer: JCM	l 439	
A&B PIPE & SUPPLY, INC.	First Offer - \$457.89	1 / each	\$457.89		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes:	t Code: Manufacturer: JCM	l Industri	es
Lehman Pipe & Plumbing Supply, Inc. [Ad]	First Offer - \$485.00	1 / each	\$485.00		Υ
Product Code: Agency Notes:		Supplier Product Code: MODEL 439 Supplier Notes: Manufacturer: JCM			
UTILITY SUPPLY ASSOCIATES, INC.	First Offer - \$523.32	1 / each	\$523.32		Υ
Product Code: Agency Notes:			t Code: 349010B040 Manufacturer: POV		
Fortiline Waterworks, Inc.	First Offer - \$574.71	1 / each	\$574.71		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Manufacturer: ROMAC ROMAC SST-III MJ OUTLET			
Corcel Corp.	First Offer - \$821.00	1 / each	\$821.00		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes:	t Code: Manufacturer: Pow	erseal 34	190MJ

452-1154101- 07 10" X 6" SS Tapping Sleeve							
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs	
HD Supply Waterworks, Ltd. [Ad]	First Offer	- \$509.74	5 / each	\$2,548.70		Υ	
Product Code: Agency Notes:			Supplier Product Supplier Notes: I	: Code: Manufacturer: JCM	1 439		
A&B PIPE & SUPPLY, INC.	First Offer	- \$513.68	5 / each	\$2,568.40		Υ	
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes: Manufacturer: JCM Industries				
Lehman Pipe & Plumbing Supply, Inc. [Ad]	First Offer	- \$542.00	5 / each	\$2,710.00		Υ	
Product Code: Agency Notes:				: Code: MODEL 439 Manufacturer: JCM	1		
UTILITY SUPPLY ASSOCIATES, INC.	First Offer	- \$551.01	5 / each	\$2,755.05		Υ	
Product Code: Agency Notes:			Supplier Product Code: 349010B060MJ-CS Supplier Notes: Manufacturer: POWERSEAL				
Fortiline Waterworks, Inc.	First Offer	- \$581.79	5 / each	\$2,908.95		Υ	
Product Code: Agency Notes:			Supplier Product Supplier Notes: I	: Code: Manufacturer: ROM	MAC		

			ROMAC SST-III M) OUTLET		
Corcel Corp.	First Offer -	\$865.00	5 / each	\$4,325.00		Υ
Product Code: Agency Notes:			Supplier Product Supplier Notes: I MJ With Carbon St	Manufacturer : POV	VERSEAL	3490

452-1154101-08 10" X 8" SS Tappin	g Sleeve				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
HD Supply Waterworks, Ltd. [Ad]	First Offer - \$632.22	2 / each	\$1,264.44		Υ
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: Manufacturer: JCM 439				
A&B PIPE & SUPPLY, INC.	First Offer - \$636.84	2 / each	\$1,273.68		Υ
Product Code: Agency Notes:		Supplier Produc Supplier Notes:	t Code: Manufacturer: JC	M Indust	ries
UTILITY SUPPLY ASSOCIATES, INC.	First Offer - \$654.33	2 / each	\$1,308.66		Υ
Product Code: Agency Notes:		Supplier Product Code: 349010B080MJ-CS Supplier Notes: Manufacturer: POWERSEAL			L
Lehman Pipe & Plumbing Supply, Inc. [Ad]	First Offer - \$672.00	2 / each	\$1,344.00		Υ
Product Code: Agency Notes:			t Code: MODEL 439 Manufacturer: JC		
Fortiline Waterworks, Inc.	First Offer - \$764.66	2 / each	\$1,529.32		Υ
Product Code: Agency Notes:	Supplier Product Supplier Notes: ROMAC SST-III M	Manufacturer: RC	OMAC		
Corcel Corp.	First Offer - \$1,027.00	2 / each	\$2,054.00		Υ
Product Code: Agency Notes:		Supplier Produc Supplier Notes:	t Code: Manufacturer: Po	werseal :	3490MJ

452-1154101- 09 10" X 10" SS Tapp	ing Sleeve					
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
HD Supply Waterworks, Ltd. [Ad]	First Offer	- \$920.08	3 / each	\$2,760.24		Υ
Product Code: Agency Notes:			Supplier Produc Supplier Notes:	t Code: Manufacturer: JC	M 439	
UTILITY SUPPLY ASSOCIATES, INC.	First Offer -	\$1,027.62	3 / each	\$3,082.86		Υ
Product Code: Agency Notes:				t Code: 349010C10 Manufacturer: PC		\L
Fortiline Waterworks, Inc.	First Offer -	\$1,113.87	3 / each	\$3,341.61		Υ
Product Code: Agency Notes:			Supplier Production Supplier Notes: ROMAC SST-III M	Manufacturer: RC	DMAC	
A&B PIPE & SUPPLY, INC.	First Offer -	\$1,195.00	3 / each	\$3,585.00		Υ
Product Code: Agency Notes:			Supplier Produc Supplier Notes:	t Code: Manufacturer: JC	M Indust	ries
Lehman Pipe & Plumbing Supply, Inc. [Ad]	First Offer -	\$1,261.00	3 / each	\$3,783.00		Υ
Product Code: Agency Notes:				t Code: MODEL 439 Manufacturer: JC		
Corcel Corp.	First Offer -	\$1,612.00	3 / each	\$4,836.00		Υ
Product Code: Agency Notes:			Supplier Production Supplier Notes: MJ With Carbon St	Manufacturer: PC)WERSEA	L 3490

452-1154101- 10 12" X 4" SS Tapping Sleeve									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				

HD Supply Waterworks, Ltd. [Ad]	First Offer -	\$507.59	1 / each	\$507.59		Υ
			Supplier Product Supplier Notes: I	Code: Manufacturer: JCM	439	
A&B PIPE & SUPPLY, INC.	First Offer -	\$512.63	1 / each	\$512.63		Υ
Product Code: Agency Notes:			Supplier Product Supplier Notes: I	Code: Manufacturer: JCM	Industrie	es
Fortiline Waterworks, Inc.	First Offer -	\$541.54	1 / each	\$541.54		Υ
Product Code: Agency Notes: Supplier Product Code: Supplier Notes: Manufacturer: ROMA ROMAC SST-III MJ OUTLET			ЛАС			
Lehman Pipe & Plumbing Supply, Inc. [Ad]	First Offer -	\$542.00	1 / each	\$542.00		Υ
Product Code: Agency Notes:				Code: MODEL 439 Manufacturer: JCM		
UTILITY SUPPLY ASSOCIATES, INC.	First Offer -	\$588.33	1 / each	\$588.33		Υ
Product Code: Agency Notes:				Code: 349012C040 Manufacturer: POV		
Corcel Corp.	First Offer -	\$924.00	1 / each	\$924.00		Υ
Product Code: Agency Notes:			Supplier Product Supplier Notes: I	Code: Manufacturer: Pow	erseal 34	- 190MJ

452-1154101- 11 12" X 6" SS Tappi	ng Sleeve				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
HD Supply Waterworks, Ltd. [Ad]	First Offer - \$577.27	5 / each	\$2,886.35		Υ
		Supplier Product Code: Supplier Notes: Manufacturer: JCM 439			
A&B PIPE & SUPPLY, INC.	First Offer - \$585.47	5 / each	\$2,927.35		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Manufacturer: JCM Industries			
Lehman Pipe & Plumbing Supply, Inc. [Ad]	First Offer - \$618.00	5 / each	\$3,090.00		Υ
Product Code: Agency Notes:			: Code: MODEL 439 Manufacturer: JCM	1	
UTILITY SUPPLY ASSOCIATES, INC.	First Offer - \$635.34	5 / each	\$3,176.70		Υ
Product Code: Agency Notes:			: Code: 349012C060 Manufacturer: POV		
Fortiline Waterworks, Inc.	First Offer - \$710.56	5 / each	\$3,552.80		Υ
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: Manufacturer: ROMAC ROMAC SST-III MJ OUTLET				
Corcel Corp.	First Offer - \$997.00	5 / each	\$4,985.00		Υ
Product Code: Agency Notes:					3490

452-1154101-12 12" X 8" SS Tappin	g Sleeve					
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
HD Supply Waterworks, Ltd. [Ad]	First Offer	- \$731.91	5 / each	\$3,659.55		Υ
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes: Manufacturer: JCM 439			
A&B PIPE & SUPPLY, INC.	First Offer	- \$740.00	5 / each	\$3,700.00		Υ
Product Code: Agency Notes:			Supplier Produc Supplier Notes:	t Code: Manufacturer: JC	M Indust	ries
UTILITY SUPPLY ASSOCIATES, INC.	First Offer	- \$780.00	5 / each	\$3,900.00		Υ
Product Code:			Supplier Produc	t Code: 349012C08	BOMJ-CS	

Agency Notes:	Supplier Notes:	Manufacturer: PC	OWERSEAL	
Lehman Pipe & Plumbing Supply, Inc. [Ad]	First Offer - \$781.00	5 / each	\$3,905.00	Y
Product Code: Agency Notes:		t Code: MODEL 439 Manufacturer: JC		
Fortiline Waterworks, Inc.	First Offer - \$869.80	5 / each	\$4,349.00	Y
Product Code: Agency Notes:	Supplier Production Supplier Notes: ROMAC SST-III M	Manufacturer: RC	DMAC	
Corcel Corp.	First Offer - \$1,224.00	5 / each	\$6,120.00	Y
		Supplier Produc Supplier Notes:	t Code: Manufacturer: Po	werseal 3490N

452-1154101-13 12" X 10" SS Tapping Sleeve						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
HD Supply Waterworks, Ltd. [Ad]	First Offer - \$927.01	1 / each	\$927.01		Υ	
		Supplier Product Code: Supplier Notes: Manufacturer: JCM 439				
A&B PIPE & SUPPLY, INC.	First Offer - \$931.58	1 / each	\$931.58		Υ	
Product Code: Agency Notes:	Supplier Produc Supplier Notes:	t Code: Manufacturer: JC	M Indust	ries		
Lehman Pipe & Plumbing Supply, Inc. [Ad]	First Offer - \$983.00	1 / each	\$983.00		Υ	
Product Code: Agency Notes:		t Code: MODEL 439 Manufacturer: JC				
UTILITY SUPPLY ASSOCIATES, INC.	First Offer - \$1,020.00	1 / each	\$1,020.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: 349012C100MJ-CS Supplier Notes: Manufacturer: POWERSEAL				
Fortiline Waterworks, Inc.	First Offer - \$1,137.54	1 / each	\$1,137.54		Υ	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: Manufacturer: ROMAC ROMAC SST-III MJ OUTLET					
Corcel Corp.	First Offer - \$1,600.00	1 / each	\$1,600.00		Υ	
Product Code: Agency Notes:	Supplier Produc Supplier Notes: MJ With Carbon S ²	Manufacturer: PC)WERSEA	L 3490		

452-1154101- 14 12" X 12" SS Tapping Sleeve								
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs		
A&B PIPE & SUPPLY, INC.	First Offer -	\$1,013.68	1 / each	\$1,013.68		Υ		
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes: Manufacturer: JCM Industries			ries		
HD Supply Waterworks, Ltd. [Ad]	First Offer -	\$1,036.55	1 / each	\$1,036.55		Υ		
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes: Manufacturer: JCM 439					
Lehman Pipe & Plumbing Supply, Inc. [Ad]	First Offer -	\$1,070.00	1 / each	\$1,070.00		Υ		
Product Code: Agency Notes:				t Code: MODEL 439 Manufacturer: JC				
UTILITY SUPPLY ASSOCIATES, INC.	First Offer -	\$1,129.32	1 / each	\$1,129.32		Υ		
Product Code: Agency Notes:			Supplier Product Code: 349012C120MJ-CS Supplier Notes: Manufacturer: POWWERSEAL					
Fortiline Waterworks, Inc.	First Offer -	\$1,271.69	1 / each	\$1,271.69		Υ		
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes: Manufacturer: ROMAC ROMAC SST-III MJ OULTET					

Corcel Corp.	First Offer - \$1,772.00	1 / each	\$1,772.00	Υ		
Product Code:	Supplier Product Code:					
Agency Notes:	Supplier Notes:	Manufacturer: Pov	werseal 3490MJ			

452-1154101- 15 14" X 4" SS Tappi r	ng Sleeve				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
HD Supply Waterworks, Ltd. [Ad]	First Offer - 73.20%	1 / each	73.20%		Υ
Product Code: Agency Notes:	Supplier Product Supplier Notes:	t Code: Manufacturer: JCM	1 439		
UTILITY SUPPLY ASSOCIATES, INC.	First Offer - 70.00%	1 / each	70.00%		Υ
Product Code: Agency Notes:		Supplier Product Code: 349014B040MJ-CS Supplier Notes: Manufacturer: POWERSEAL			
Fortiline Waterworks, Inc.	First Offer - 62.00%	1 / each	62.00%		Υ
Product Code: Agency Notes:	Supplier Product Supplier Notes: ROMAC SST-III M.	Manufacturer: ROM	ИAC		
Corcel Corp.	First Offer - 50.00%	1 / each	50.00%		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes: I MJ With Carbon Sto	Manufacturer: POV	VERSEAL	3490
Lehman Pipe & Plumbing Supply, Inc. [Ad]	First Offer - 15.00%	1 / each	15.00%		Υ
Product Code: Agency Notes:		t Code: MODEL 439 Manufacturer: JCM			
A&B PIPE & SUPPLY, INC.	First Offer - 0.00%	1 / each	0.00%		Υ
Product Code: Agency Notes:	Supplier Product Supplier Notes: I price per unit: \$59	Manufacturer : JCM	I Industrie	es	

452-1154101-16 14" X 6" SS Tapping Sleeve					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
HD Supply Waterworks, Ltd. [Ad]	First Offer - 73.20%	1 / each	73.20%		Υ
		Supplier Product Code: Supplier Notes: Manufacturer: JCM 439			
UTILITY SUPPLY ASSOCIATES, INC.	First Offer - 70.00%	1 / each	70.00%		Υ
Product Code: Agency Notes:		Supplier Product Code: 349014B060MJ-CS Supplier Notes: Manufacturer: POWERSEAL			
Fortiline Waterworks, Inc.	First Offer - 62.00%	1 / each	62.00%		Υ
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: Manufacturer: ROMAC ROMAC SST-III MJ OUTLET				
Corcel Corp.	First Offer - 50.00%	1 / each	50.00%		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes: I	Code: Manufacturer: Pow	erseal 34	190MJ
Lehman Pipe & Plumbing Supply, Inc. [Ad]	First Offer - 15.00%	1 / each	15.00%		Υ
Product Code: Agency Notes:		Code: MODEL 439 Manufacturer: JCM			
A&B PIPE & SUPPLY, INC.	First Offer - 0.00%	1 / each	0.00%		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Manufacturer: JCM Industries price per unut \$ 673.68			

452-1154101- 17 Percentage					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
HD Supply Waterworks, Ltd. [Ad]	First Offer - 73.20%	1 / percentage	73.20%		Υ

		Supplier Product Supplier Notes:	Code:		
Fortiline Waterworks, Inc.	First Offer - 62.00%	1 / percentage	62.00%		Υ
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: ROMAC SST-III MJ OUTLET				
Corcel Corp.	First Offer - 50.00%	1 / percentage	50.00%		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		
Lehman Pipe & Plumbing Supply, Inc. [Ad]	First Offer - 15.00%	1 / percentage	15.00%	Υ	Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code: MODEL 439		
UTILITY SUPPLY ASSOCIATES, INC.	First Offer - 0.00%	1 / percentage	0.00%		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		

Supplier Tota		
HD Supply W	/aterworks, Ltd. [Ad]	\$66,189.75 (17/17 items)
Bid Contact	Susan Helms susan.helms@hdsupply.com Ph 407-383- 7008 Fax 321-724-5117	Address 6933 Old Nasa Blvd. Melbourne, FL 32904
Supplier Code	00023494	
Agency Notes	3:	Supplier Notes:
Lehman Pipo	e & Plumbing Supply, Inc. [Ad]	\$68,737.00 (17/17 items)
Bid Contact	Dennis Lehman josh@lehmanpipe.com Ph 305-576- 3054	Address 230 N.W. 29TH ST MI AMI, FL 33127
Supplier Code	00001457	
Bid Notes	Minimum order requirement is \$25	00.00 for these prices to apply
Agency Notes:		Supplier Notes: Minimum order requirement is \$2500.00 for these prices to apply
UTILITY SUF	PPLY ASSOCIATES, INC.	\$68,974.59 (17/17 items)
S	RANK MARINO ales@utilitysupplyassociates.com h 561-493- 9900	Address 7000 NW 25TH STREET MI AMI, FL 33122
P	IINIMUM ORDER IS \$1,600.00 RICES SHOWN ARE NET PRICES BASI PON REQUEST.	D ON "LIST" LESS 70%. LIST PRICE SHEET FURNISHED
Agency Notes:		Supplier Notes: MINIMUM ORDER IS \$1,600.00 PRICES SHOWN ARE NET PRICES BASED ON "LIST" LESS 70%. LIST PRICE SHEET FURNISHED UPON REQUEST.
Fortiline Waterworks, Inc.		\$78,812.51 (17/17 items)
P	avid guthart reg.panasuk@fortiline.com h 772-408- 1960 ax 561-253-9887	Address 6759 White Drive Riviera Beach, FL 33407
Agency Notes	s:	Supplier Notes:
Corcel Corp.		\$108,272.00 (17/17 items)
Bid Contact	Ray Corona paula@corcelcorp.com Ph 305-636- 1880 Fax 305-636-1897	Address 2461 NW 23rd Street Miami, FL 33142
Supplier Code	00016631	
Qualifications	DBE MBE SB	
Bid Notes	POWERSEAL 3490 MJ With Carbon S	teel Outlet
Agency Notes	S:	Supplier Notes: POWERSEAL 3490 MJ With Carbon Steel Outlet
A&B PIPE &	SUPPLY, INC.	\$67,452.36 (16/17 items)
Bid Contact	ARODDY MOREJON	Address 6500 NW 37TH AVENUE

	alexg@abpipe.net Ph 305-694- 2004	MI AMI , FL 33147	
Supplier Code	0000016		
Qualifications	SB		
Bid Notes	Manufacturer: JCM INDUSTRIES MODEL: JCM -439 MINIMUN ORDER \$2,000.00		
Agency Notes	:	Supplier Notes: Manufacturer: JCM INDUSTRIES MODEL: JCM -439 MINIMUN ORDER \$2,000.00	

...